ASSEMBLY INSTRUCTIONS:

D‘M HBH

I

I D‘M HAH —

KNOB

SCALE

INSERT HEXAGONAL HEAD SCREW [/4-20 INTO THE WALL TAB HOLES

ON THE ADAPTER, ONE SCREW PER TAB, WHIT THE SCREW
HEADS ON THE INSIDE OF THE ADAPTER. SEE DETAIL A.

. 000

INSERT ROUND HEAD SCREW [/4-20 INTO THE BASE TAB HOLES ON

THE ADAPTER, ONE SCREW PER TAB, WHIT THE SCREW
HEADS ON THE [INSIDE OF THE ADAPTER. SEE DETAIL B.

ASSEMBLY THE (18) PLASTIC KNOBS ON EACH SCREW

D HE TABS WHIT THE ASSEMBLED SCREW COMPLETELY INTO

SLIDE T

THE T-CHANNELS ON THE 8" FIBERGUIDES STRAIGHT SECTIONS.
DIFFERENT QUANTITY OF ACCESSORIES F/N 002 AND 004

ONLY IN THE FGS-MHRT-M/F AND FGS-MHRT-M/F, SEE TABLE.

DIFFERENT QUANTITY OF ACCESSORIES F/N 002,003 AND 004 .
SEE TABLE PAGES3.

4.490
REF

HEXAGONAL
HEAD SCREW
SCALE

. 000 SCALE

SCALE 0.200

ROUND
HEAD SCREW

REVISTONS
REV CMO DATE APPROVED
C 4020440 7CMO  |08-0CT-2024 GVR
D 40204793CMO  |23-0CT-2024 GVR

. 000

PART LIST
ITEM DESCRIPTION QTY
00 | HOR I/ TEE , 4xI18orZ24d, EXIT 12,18,24 WELD \ \
007 KNOD, PLASTIC FGS 18 | 7
003 HEXAGONAL HEAD SCREW [/4-20 6 6
004 ROUND HEAD SCREW [/4-20 |2 N
FGSB-MHRT-F/H A%12 HORIZ TEE, 24 EXIT 12" 24" BLACK
FGSB-MHRT-M/F | 4)18 HORIZ TEE, 12 EXIT 18" 12" BLACK
FGS-MHRT-H/M AX24 HORIZ TEE, 18 EXIT 24" 18" YELLOW
FGS-MHRT-M/H AX18 HORIZ TEE, 24 EXIT 18" 24" YELLOW
FGS-MHRT-M/F AY¥18 HORIZ TEE, 12 EXIT 18" 12" YELLOW
FGS-MHRT-M A¥18 HORIZ TEE, 18 EXIT 18" 18" YELLOW
FGSB-MHRT-M AY¥18 HORI7Z TEE, 18 EXIT KX KX BLACK
CATALOG NUMBER DESCRIPTION DIM "A" DIM "B" COLOR
COMMSCOPE, INC.
DRAFTER TITLE
RUBEN ARVILLA FGS, 4X18 HORIZ TEE, YEL
ENGINEER SIZE SCALE DOCUMENT NO.
RUBEN ARVILLA AZ 0 |25 660106048
REVISION] SHEET
@Er CUSTOMER DRAWING D o

| 8

9

10




SEE DETAIL E5

SEE DETAIL /\

)
nigin].

'),
lnininl}

é&»

)
ngin

SCALE 0.250

COMMSCOPE, INC.

DRAFTER TITLE
RUBEN ARVILLA ASSY DWG, FGS TEE,4X18 HORIZ
DETATL DETAIL ENGINEER STIE SCALE DOCUMENT NO.
SCALE 1.000 SCALE 1.000 BENARVILLA o210 125 660106048
REVISION] SHEET
@-C | CUSTOMER DRAWING [p1o0r s
3 5 X | 8 | 9 | 10




DETAITL D
|

SCALE [.000

SCALE 0.350

PART LIST 6
ITEM DESCRIPTION QTY

001 | HORIZ TEE,4xI8or24, EXIT 12,18,24 WELD |

007 KNOB, PLASTIC FGS 6
003 HE XAGONAL HEAD SCREW [/4-20 I
004 ROUND HEAD SCREW 1/4-20 4

COMMSCOPE, INC.

DRAFTER TITLE

RUBEN ARVILLA ASSY DWG, FGS TEE,4XI8 HORIZ

DETAITL C
SCALE | 000 . ENG INEER STZE SCALE DOCUMENT NO.
RUBEN ARVILLA AZ 0 |25 660106048

@y CUSTOMER DRAWING [g 125 s

2 3 4 5 4 6 7 | 8 | 9 | 10




	Sheet 1
	Views
	new_view_2
	new_view_3
	new_view_4
	new_view_6
	new_view_7
	new_view_8


	Sheet 2
	Views
	new_view_5
	A
	B


	Sheet 3
	Views
	new_view_14
	C
	D



